m
%
:

E _sSky’

2
2
2

helicopter

Qty. needed in one

bar

SPECIFICATION OF HONEY BEE
000515

Main motor screw (M 3)

Main shaft
Tail protectbar

Tail rotor shaft

Tail motor pinion
Spacer

4in control ler
Main motor washer
Main gear screw
Tail blade
Tail gear

066 | Bearing(2'6.3)

PVC fube

Battery holder
042 | Battery pack

Main shaft pin

Bar joiner

Tail boom

Balllink
Bar joiner
Main gear
StrutA
SkidA
StrutB
8kidB
Battery han
Vertical fin
Washer

035
036
039 Cabin
040
[}
043
044
045
046
048
050
051
052
053
054
055
056
051
058
058
061
062 Screw(M1.3)
063
064
065
067

047

2
1
2
4
1
2
4
3

Qty. neededin| |tem Number | Description

one helicopter

r ball
Paddle push-rod

Swash-plate

Main blade control link

Main blade mount
Main blade

Fixed collar
Paddle control frame{outer

Socket head cap screw(M3)|

Rotor bar
Screw for servo(pw1.7°4)

Servo

Bearing (6*5°2.5)
Swash-plate (outer)
Servo push-rod

Main motor pinion
Socket setscrew (M3)
Set collar

Genter hub

Bushing
Bearing (13*7%4)
Servo control
Main frame

Cap screw (M 2.5)
Rotor head

Stator for main blade
Collar

Screw (M2.6)
Paddle
Wasgher

Nut

Fly-bar
Main motor

Washer

ltemNo. | Description

001
002
003
004
005
006
007
008
009
010
011
02
013
014
015
016
nu1
018
019
020
021
022
023
024
025
026
021
028
029
030
031
032
033
034

1.Content:
1). A complete honey bee ready to fly.
2). 8.4V/650mah Ni-MH battery pac
3). wall charger for battery
4). Standard PPM transmitter (4CH)
EK2-0404

2.Specification

1). Main rotor diameter: 520mm
2).Fuselage length: 520mm

3).Max all-up-weight: 290g
4).Power: 8 4VNi-MH battery pack
5).Radio: 4CH/PPM

Exploded view
000515

3. Description

Pre iti mounts fi setu
| W___,/”’/:k position servo mounts for easy setup

% Carbon fibre fly-bar and boom for superior strength and durability.

% High performance main electric drive motor for extended duration flight.
% Unbelievable flight performance 12 minutes on 7cell Ni-Mh battery

% Ready for flight out of box except 8 AA battery (sold separate)




®
E$ ESKY Ready for your fly! ESKY Ready for your fly!

000515
— - - -

- 000208 000209 000210 000211
000207 000156 000164 000167 -

000216 000223 000224 000225

000233 000237 001097 000238

000166 000165 000169 000187

36M| 000105

000188 000189 000190 000191 %
41 000111
72M) 000112}
- 000239 000155 000242
000192 000193 000194 000195 -
- - — - i -

000196 000197 000205

000200 000201 000202

000512




	K08-420297-001彩页改后A.jpg
	K08-420297-001彩页改后B.jpg

